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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2012 
इंटरमीडिएट परीक्षा - 2012 

(ANNUAL / वार्षिक)   

BUSINESS STUDIES  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION - A 

 

प्रश्न सॊख्मण 1 से 25 तक के प्रश्नों के चणय विकल्ऩ ददए गए हैं। इनभें से केिर एक 
सही है। आऩको उन सही विकल्ऩों को चनुकय उत्तय-ऩत्र भें चचह्ननत कयनण है:  

 

1. ननम्न भें से ककसको "िऻैणननक प्रफॊध कण वऩतण” कहण जणतण है ? 

(a) एल्टन भेमो 

(b) एप. डब्लल्म.ू टेरय  

(c) पेमोर 

(d) इनभें से कोई नहीॊ 

 

2. प्रफन्ध हैं  

(a) एक करण 

(b) एक विऻणन  

(c) एक करण एिॊ विऻणन दोनों  

(d) इनभें से कोई नहीॊ 
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3. प्रफन्ध के चौदह मसद्धणन्तों को प्रस्तुत ककमण 

(a) हेनयी पेमोर ने  

(b) एप. डब्लल्म.ू टेरय ने  

(c) ऩीटय ड्रणकय ने  

(d) ए० एच० भणस्रो न े

 

4. ननम्नमरखित भें से कौन-सण ऩहर ुननमोजन के मरए भहत्त्िऩरू्ण है ?  

(a) ननर्णमन  

(b) सॊगठन  

(c) ऩिूणणनभुणन 

(d) ननदेशन 

 

5. प्रफन्ध कण सणभणह्जक उत्तयदणनमत्ि ककसके प्रनत है ? 

(a) ऩयेू सभणज  

(b) कभणचणयी िगण  

(c) सयकणय  

(d) सॊगठन 

 

6. ननम्नमरखित भें कौन-से प्रफॊध के कणमण है ? 

(a) ननमोजन  

(b) सॊगठन  

(c) ननदेशन 

(d) इनभें से सबी 
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7. फजदटॊग के प्रभिु उद्देश्म है 

(a) ननमोजन  

(b) सभन्िमन  

(c) ननमॊत्रर् 

(d) इनभें से सबी 

 

8. 'ननमॊत्रर् कण ऺेत्र' मसद्धणन्त को प्रस्तुत ककमण है 

(a) हेनयी पेमोर न े

(b) एल्टन भेमो ने  

(c) एप. डब्लल्म.ू टेरय न े

(d) इनभें से कोई नहीॊ 

 

9. अमबप्रेयर् के "आिश्मकतणएॉ िॊशगत मसद्धणन्त" को प्रस्तुत ककमण है 

(a) हजणफगण के 

(b) भणस्रो न े

(c) एल्टन भेमो न े

(d) इनभें से कोई नहीॊ 

 

10. सॊचणय होतण है 

(a) एक-तयपण प्रकिमण  

(b) दो-तयपण प्रकिमण 

(c) फहु-तयपण प्रकिमण 

(d) इनभें से कोई नहीॊ 
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11. थोक वििेतण भणर फेचतण है  

(a) उऩबोक्तणओॊ को  

(b) िुदयण वििेतणओॊ को 

(c) अचधकृत एजेन्टों को 

(d) इनभें से कोई नहीॊ 

 

12. ननम्न भें से कौन चणर ूसम्ऩवत्त नहीॊ है?  

(a) प्रणप्म बफर  

(b) यहनतमण 

(c) प्रणयॊमबक व्मम  

(d) इनभें से कोई नहीॊ 

 

13. व्मिसणम भें अल्ऩकणरीन वित्तीम स्रोतों भें सह्म्भमरत है  

(a) व्मणऩणय रेनदणय 

(b) फैंक ऋर् 

(c) अॊशों कण ननगणभन 

(d) इनभें से सबी 

 

14. उद्ममभतण कण सॊफॊध होतण है 

(a) नमी ऩरयमोजनण कण प्रणयॊब से  

(b) अनसुॊधणन एिॊ विकणस कणमण से 

(c) ितणभणन ऩरयमोजनण भें ऩनुननणभणणर् से  

(d) इनभें से सबी  
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15. उऩबोक्तण सॊयऺर् अचधननमभ ऩणरयत हुआ 

(a) 1996 भें  

(b) 1786 भें 

(c) 1880 भें 

(d) इनभें से कोई नहीॊ 

 

16. ननम्न भें से कौन स्थणमी सम्ऩवत्त नहीॊ है ? 

(a) बमूभ एिॊ बिन 

(b) व्मणऩणय विननमोग  

(c) ख्मणनत 

(d) इनभें से कोई नहीॊ 

 

17. वित्तीम प्रफॊध के कणमों भें सह्म्भमरत है 

(a) कोषों की प्रणह्प्त  

(b) कोषों कण प्रमोग 

(c) कोषों कण आफॊटन 

(d) इनभें से सबी 

 

18. उद्ममभतण के उद्देश्मों भें सह्म्भमरत है 

(a) स्ि-ननमोजन  

(b) कुशरतण विकणस  

(c) मशऺण एिॊ प्रमशऺर् 

(d) इनभें से सबी 
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19. विऩर्न-मभश्रर् भें सह्म्भमरत है 

(a) उत्ऩणद 

(b) भलू्म 

(c) स्थणन  

(d) इनभें से सबी 

 

20. प्रफन्ध अॊकेऺर् कण उद्देश्म ककसके कणमणकरणऩों ऩय ननमॊत्रर् कयनण है ? 

(a) कम्ऩनी  

(b) प्रफन्ध  

(c) अॊशधणयी  

(d) उऩबोक्तण 

 

21. एक उत्ऩणद ह्जसकण बौनतक अह्स्तत्ि है, है 

(a) एक सेिण  

(b) एक भणर  

(c) एक अमबव्मह्क्त  

(d) एक अिधणयर्ण  

 

22. ककसी देश भें आमणत ऩय कयों को कहण जणतण है।  

(a) टैरयप 

(b) कोटण  

(c) ड्मटूीज  

(d) अियोधक 
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23. एक उत्ऩणद के जीिन चि के विमबन्न चयर् क्मण हैं ? 

(a) ऩरयचम  

(b) विकणस 

(c) अिननत 

(d) इनभें से सबी 
 

24. विऻणऩन है 

(a) भहत्त्िऩरू्ण 

(b) फफणणदी  

(c) आिश्मक  

(d) इनभें से कोई नहीॊ 
 

25. एक सभ-विच्छेद बफन्द ुऩय कुर रणगत ककसके फयणफय होतण है ?  

(a) स्थणमी रणगत  

(b) वििम भलू्म  

(c) कुर आगभ  

(d) इनभें से कोई नहीॊ 
 

II. प्रश्न सॊख्मण 26 से 30 तक के प्रश्नों भें से प्रत्मेक प्रश्न भें दो कथन (कथन I एिॊ 
कथन II) ददए गए हैं। दोनों कथनों को ऩढें तथण विकल्ऩ (a), (b), (c) एिॊ (d) से सही 
उत्तय चनुें :  

(a) दोनों कथन सही हैं 

(b) कथन I सही है, ऩयन्तु कथन II गरत है  

(c) कथन । गरत है, ऩयन्तु कथन II सही है 

(d) दोनों कथन गरत हैं 
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26. कथन-I : नीनत प्रफन्ध कण आधणय है।  

कथन-II : उद्देश्म नीनत ननधणणयर् कण औजणय है। 
 

27. कथन-I : अचधकतभ रणब-प्रणह्प्त व्मिसणम कण उद्देश्म है।  

कथन-I : अचधकतभ धन-प्रणह्प्त व्मिसणम कण उद्देश्म है। 
 

28. कथन-I : विऩर्न एिॊ वििम सभरूऩ हैं।  

'कथन-II : विऩर्न भें िस्तु वििम सह्म्भमरत है। 
 

29. कथन-I : वित्तीम प्रफॊध कण सॊफॊध कोष एकत्रीकयर् से है।  

कथन-II : वित्तीम प्रफॊध कण सॊफॊध कोष वितयर् से है। 
 

30. कथन-I : विऻणऩन भदु्रण की फफणणदी है। 

कथन-II : विऻणऩन एिॊ प्रचणय एक ही हैं।  
 

III. ननम्नमरखित प्रश्न सॊख्मण 31 से 34 तक भें दो तणमरकण ददमे गमे हैं। तणमरकण I भें 
चणय हैं, ह्जनके उत्तय को तणमरकण II भें ददमे गमे चणय विकल्ऩ (a), (b), (c) तथण (d) भें 
से चनुनण है : 

तणमरकण I      तणमरकण II  

31. ननमोजन   (a) उत्ऩणद के प्रितणन एिॊ वििम  

32. विऩर्न    (b) नई उऩिभ की स्थणऩनण कण उद्देश्म 

33. नणफणडण     (c) प्रफॊध कण प्रणयॊमबक कणमण 

34. उद्ममभतण   (d) ग्रणभीर् विकणस के मरए आिश्मक 
 

IV. प्रश्न सॊख्मण 35 भें एक उद्धयर् ददमण गमण है। इसके सणथ तीन प्रश्न ददए गए हैं। 
इन प्रश्नों कण उत्तय ददए गए विकल्ऩों भें से चनुकय उद्धयर्ों के आधणय ऩय दें: 
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35. उद्धयर् : एक सणझदेणयी पभण कण ऩॊजीमन की व्मिस्थण बणयतीम सणझदेणयी 
अचधननमभ, 1932 के अॊतगणत की जणती है। बणयत भें पभण कण ऩॊजीमन अननिणमण नहीॊ है। 
रेककन मदद पभण के सणझदेणय चणहें तो इसकण ऩॊजीमन कयण सकते हैं। पभण कण ऩॊजीमन 
नहीॊ कयणने कण प्रबणि मह ऩड़तण है कक इसके तीसये ऩऺों के सॊफॊध ऩय विऩयीत प्रबणि 
ऩड़तण है। इन विऩयीत प्रबणिों के कणयर् पभण कण ऩॊजीमन फहुत अचधक आिश्मक हो 
जणतण है। इसके ऩॊजीमन से भहणजनों, रेनदणयों, सणझदेणयों एिॊ तीसये ऩऺों को रणब 
ऩहुॉचतण है।  

 

I. सणझदेणयी कण ऩॊजीमन बणयतीम सणझदेणयी अचधननमभ के अॊतगणत होतण है 

(a) 1932  

(b) 1956  

(c) 1914  

(d) 1960 

 

II. पभण के ऩॊजीमन नहीॊ होने कण प्रबणि होतण हैं 

(a) सणझदेणयों के िधैणननक सॊयऺर् ऩय 

(b) पभण के िधैणननक सॊयऺर् ऩय 

(c) तीसये ऩऺ के िधैणननक सॊयऺर् ऩय 

(d) इनभें से सबी ऩय 

 

III. ऩॊजीमन से रणब होतण है 

(a) रेनदणय को  

(b) सणझदेणय को  

(c) पभण को  

(d) इनभें से सबी 
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SECTION-B 

प्रश्न सॊख्मण 1 से 10 रघ ुउत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए तीन अॊक ननधणणरयत 
है। 

1. प्रफॊध के चणय कणमों की वििेचनण कीह्जए।  

2. वित्तीम प्रफॊध के कणमों कण सॊक्षऺप्त वििेचन कीह्जए।  

3. सणझदेणयी की विशषेतणएॉ क्मण हैं ? 

4. विऩर्न के चणय P की वििेचनण कीह्जए। 

5. भदु्रण फणजणय क्मण है ? 

6. ननमॊत्रर् की प्रकिमण की वििेचनण कीह्जए।  

7. फणजणय- सणि के स्रोत क्मण हैं ? 

8. उद्ममभतण के कणमों की वििेचनण कीह्जए।  

9. उऩबोक्तण सॊयऺर् कण भहत्त्ि क्मण है ? 

10. कणमणशीर ऩूॊजी को प्रकृनत की वििेचनण कीह्जए। 

 

प्रश्न सॊख्मण 11 से 15 दीघण उत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए 6 अॊक ननधणणरयत 
है। https://www.bsebstudy.com 

11. ऩणषणद सीभण ननमभ के उऩिणक्मों की वििेचनण कीह्जए। 

12. प्रमशऺर् के भहत्त्ि एिॊ विचधमों की वििेचनण कीह्जए।  

13. व्मिसणम भें दीघणकणरीन वित्तीम स्रोतों की वििेचनण कीह्जए। 

14. प्रफन्ध के सणभणह्जक उत्तयदणनमत्ि की वििेचनण कीह्जए।  

15. विमबन्न प्रकणय के सॊगठनणत्भक सॊयचनण की व्मणख्मण कीह्जए। 

 

*********** 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2012 
इंटरमीडिएट परीक्षा - 2012 

(ANNUAL / वार्षिक)  

BUSINESS STUDIES 

Time: 3 Hours 15 Minutes]                  [Full Marks: 100 

SECTION-A 

I. In question nos. 1 to 25 there are four options but only one is correct. You have choose 

that correct answer and mark in the Answer sheet:  

 

1. In which following is called "The father of Scientific management "? 

(a) Alton Meyo 

(b) F. W. Taylor  

(c) Feyol  

(d) None of these 

 

2. Management is 

(a) An art 

(b) A science 

(b) An art and science both 

(d) None of these 

 

3. 14 principle of management is represented. 

(a) Henry Feyol  

(b) F. W. Taylor  

(c) Peter Drucker 

(d) A. H. Maslow 
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4. In which following is important step in planning?  

(a) Decision 

(b) Organisation 

(c) Asumption 

(d) Direction 

 

5. To whom social liabilities of management ? 

(a) To whole society 

(b) Employee class 

(c) Government 

(d) Organisation 

 

6. What is the function of management? 

(a) Planning  

(b) Organisation  

(c) Direction 

(d) None of these 

 

7. The main object of budgeting is 

(a) Planning  

(b) Co-ordination 

(c) Controlling 

(d) None of these 

 

8.  "Scope of controlling" principle represented by 

(a) Henry Feyol 

(b) Akon Meyo 

(c) F. W. Taylor 

(d) None of these 
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9. In inspiration's "the principle of originated necessities" represented by 

(a) Hurjburg  

(b) Maslo 

(c) Alton Meyo 

(d) None of these  

 

10. Communication is that 

(a) One sided process 

(b) Two sided process 

(c) Multiple sided process 

(d) None of these 

 

11. Wholesaler sale goods to  

(a) Consumers 

(b) Retail sellers  

(c) Authorised agents 

(d) None of these 

 

12. In following is not current assets 

(a) Bill receivable 

(b) Stock 

(c) Preliminary expenses 

(d) None of these  

 

13. Short term financial sources are included in business 

(a) Trade creditor  

(b) Bank loan  

(c) Issue of shares 

(d) None of these 
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14. Entrepreneurship is related to  

(a) From start to new project 

(b) From research and development 

(c) From reconstruction in present project  

(d) None of these 

 

15. Consumer protection law passed 

(a) 1996  

(b) 1986 

(c) 1880 

(d) None of these 

 

16. In the following is not fixed assets 

(a) Land and building  

(b) Trade investment 

(c) Goodwill  

(d) None of these 

 

17. Financial management functions are included 

(a) Receipt of fund 

(b) Use of fund 

(c) Allotment of funds 

(d) None of these  

 

18. The objective of entrepreneurship is included 

(a) Self planning  

(b) Skill development  

(c) Education and training 

(d) All these 
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19. It is included in marketing mixture 

(a) Production 

(b) Price  

(c) Place 

(d) All these  

 

20. On which activity controlling the object of management auditing? 

(a) Company  

(b) Price 

(c) Place 

(d) none of these  

 

21. A product that has a physical existence is  

(a) A service  

(b) A goods 

(c) A thought 

(d) A concept 

 

22. A tax on import in any country is called  

(a) Tariff 

(b) Kota 

(b) Duties 

(d) Hindrance 

 

23. What are the different steps of a product life cycle? 

(a) Introduction 

(b) Development 

(c) Decreasing 

(d) None of these 

 



https://www.bsebstudy.com 

24. Advertisement is 

(a) Important  

(b) Desceruction 

(c) Necessarily 

(d) None of these 

 

25. Which is equal to total cost on break even point? 

(a) Fined cost 

(b) Selling price  

(c) Total revenue 

(d) None of these 

 

II. In question nos. 26 to 30 there are two statements (statement I and statement II) given 

for each question. You have to read both statements and choose the correct answer from 

the options (a), (b), (c) and (d).  

26. Consider the following statements: 

Statement-I: Policy is the foundation of management.  

Statement-II: Objective is the basis of policy formation. 

of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true  

 

27. Consider the following statements: 

Statement- I : Profit maxization is the objective of business.  

Statement-II: Wealth maximization is the objective of business. 

Of these statements: 
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(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

28. Consider the following statements: 

Statement-I : Marketing and selling are same. 

Statement-II : Marketing includes selling of goods.  

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

29. Consider the following statements:  

Statement- I : Financial management is concerned with acquision of funds. 

Statement-II: Financial management is concerned with allocation of funds. 

Of these statements:  

(a) Both the statements are true and statement II is not the correct explanation of 

statement I. https://www.bsebstudy.com 

(b) Both the statements are true, but statement II is not the correct  explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 



https://www.bsebstudy.com 

30. Consider the following statements : 

Statement-I : Advertising is the waste of money. 

Statement-II: Advertising and publicity are the same. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. https://www.bsebstudy.com 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

III. In the following question nos. 31 to 34, there are two columns. Column I contains 4 

items. You have to match the correct options of these questions as (a), (b) (c) and (d) 

from Column-II: 

Column-I      Column-II 

31. Planning   (a) Promotion and selling products 

32. Marketing  (b) Has the objective of stasting new venture  

33. NABARD   (c) Primary function of management 

34. Entrepreneurship  (d) Necessary for rural development  

 

IV. In question no. 35 there is a paragraph followed by three questions. You have to 

choose the correct answer from the alternatives on the basis of the paragraph:  

35. The registration of a partnership firm is done under the provisions of the Indian 

Partnership Act, 1932. In Indian registration of a firm is not compulsory. If the partners 

so desire they may get the firm registered. The effects of non-registration are so adverse 

and they affect the relationship with the third party. The bad effects of non-registration 

have caused the registration of a firm to be more than compulsory. The money lenders, 

creditors, partners and others are benefited from the registration  of a firm. 
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I. A partnership firm is registered under the Indian partnership act of  

(a) 1932 

(b) 1950 

(c) 1914 

(d) 1960 

 

II. The effects of non-registration are on 

(a) Legal protection to parties  

(b) Legal protection to firm 

(c) Legal protection to third party  

(d) All these 

 

III. Advantages of registration are to 

(a) creditors 

(b) partners  

(c) firm 

(d) all of these 

SECTION - B 

Question nos. 1 to 10 are of short answer type. Each question carries 3 marks: 

1. Explain the four functions of management.  

2. Write short notes on function of financial management?  

3. What are the advantages of partnership? https://www.bsebstudy.com 

4. Discuss the four points of marketing.  

5. What is money market? 

6. Discus the process of control. 

7. What are sources of credit marketing? 
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8. Write functions of Entrepreneurship. 

9. What is importance of consumer protection? 

10. Explain the nature of working capital. 

 

Question nos. 11 to 15 are of long answer type. Each question carries 6 marks 

11. Explain the sub-clause of Memorandum of Association.  

12. Discuss the importance and methods of training. 

13. Explain the long term financial sources in business.  

14. Explain the social responsibilities of the management. 

15. Explain the various structures of organisation. 

 

 

*********** 
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